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SET-1 

	,��−8�∀�9����	,��−8�∀�9����	,��−8�∀�9����	,��−8�∀�9��������

Choose the correct option 

 

�: ��∃���� � �� � � � �  ���
���	
���,���������;��������
�����2��	<��,2�=�� � 

If roots of  ��� � �� � � � �  are equal then which of the following is 

Correct ? 

���� �� � 	
��� � � ����� �� � 
�� 

����� �� � 
�� � � � ����� �� � 
� 

>: ��∃��� � �� � �
 � � ����������
�����;��������
���	����2��,2�=�� � � 

If��� � �� � �
 � � then value of  � will be which of the following ? 

���� �������� �(Integers)� � � ����� �∋�?��	����� �(fractional No) 

����� )��∀
���	����� �(Irrational )�� ����� (�≅��(���,��� �(non real)�


: 0��(Α�������∀
���0(��#��4Β��Χ∀�Χ∀�,�������(Α������4∆���,�����=�� � � � 

If the perimeter and area of circle are equal then radius of circle will be   ? 

���� >�
�4���(2 units)� � � ����� ��
�4��(Pie units) 

�����  �
�4���(4 units)� � � ����� !�
�4��(7 units) 

 : >Ε�
Ε� Ε��Ε�Φ����
��Γ����,������=� � � � � � � � � 

Median of  2, 3, 4, 5, 6 is ? 

���� 
� � � � � ����� 
 

�����  � � � � � ����� ��

�: (Α�����	Χ	��ΧΗ6��Ι�(��,�����,2�=� � � � � � � � � 

Longest chord of circle is ? 

���� 9���(arc)� � � ����� ϑ��	�(Diameter) 

����� 9�������(cord)� � ����� 3�
���	�����3���,���(None of these) 
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Φ: X- )#�������∃��%�����,�����,2��=� � � � � � � � � 

Co-ordinate of  X-axis is ? 

���� ( x , 0)�� � � � ����� (0, y ) 

����� (0,0)� � � � � ����� ( x , y )�

!: 
�������
��� ��� ����
���,�����=� � � � � � � � � � 

The value of  
�������
��� ���    

���� �� � � � � ����� � 

����� 1

2
� � � � � ����� >�

Κ: ��	�������)���������������)������������,�����=� � � � � � � 

The sum of Probabilities of  events will be ? 

���� �� � � � � ����� Λ� 

����� �� � � � � ����� >�

Μ: 0��9∀�
���∀2�����	
��∀������ϑ�����ΝΟ��,2�=� � � � � � � 

The standard form of one variable linear equation is ? 

���� �� � � � �� � � ����� �� � � 

����� �� � �� � �� � � ����� �� � ��

��: ��∃��� ��� � � 
  ���������
���,�����=� � � � � � � 

If �� ��� � � 
�then � will be ? 

���� 0� � � � � � ����� 30�  

����� 45� � � � � � ����� 60� �

�

�∀7��≅&�����������	,��−8�∀�	����∀���∀���∀7��≅&�����������	,��−8�∀�	����∀���∀���∀7��≅&�����������	,��−8�∀�	����∀���∀���∀7��≅&�����������	,��−8�∀�	����∀���∀�������Λ�Λ�Λ�Λ����

Fill up the blank with correct answers : -�

��: ∃���	
Ν���4∋��Ι�������#��4Β��������)������−����	����∋��Ι�)�������::::::::::::���)���������Χ∀�Χ∀�,�����

,2��=� � � � � � � � � � � � eV
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The ratio of areas of two similar triangles are equal to the ratio of the……of 

corresponding sides ? 

�>: �Ε�>Ε�
Ε� Ε������
�Γ�::::::::::::�,2�=� � � � � � � � � 

The median of 1, 2, 3, 4, 5 is……… 

�
: sin 50 cos 40 2cos........+ =� �               � 

� : tan(90 ) ............θ− =�              ��
��: ��	��(Α�����≅�%���∀����::::::::::::::::::::�Χ?∃���∀�≅�%����∀���,2/� � � � � � 

The  tangent of circle touches at………..point. 

�Φ:  A.p����	�(�?�∀�Γ���<
�Ε�Π���<
�����::::::::::::::::::::�,���	����,�2�=�� � � � 

Common defference of A.p. are  +ve, -ve or………  

�!: ∀2�����	
��∀������)������::::::::::::::::::::::�,�����,2/� � � � � � � 

The Graph of linear equation is……… .. 

�Κ: 2 4b ac− ���:::::::::::::::::::::::��,��Ι����,2�/� � � � � � � � 
2 4b ac−  is clled………  

�Μ: (,�	
��∀����Ι	������3��,����,���:::::::::::::::::::::::::::�,�����,2/� � � � � 

The  equations which has no any solution is called………. 

>�: )Γ�����������	;�������Α1Θ�#��4Β��::::::::::::::::::::::::::::::::,�����,2/� � � � � � 

The total surface area of hemisphere is………… 

>�: �Ρ�����Χ,��∃�Σ����∀����Ι����∗��?��� 3 Τ��0(�� 3 Λ��,2�/� � � � > 

Find quadratic polynomial which roots are 3 Τ� and 3 Λ�: 

>>: 1 1

2 2

,
a b

a b
�)�2∀� 1

2

c

c
����������∀�Χ��0Υ���∀2�����	
��∀���
� � �� �  �)�2∀��
� � !� � ∀�

	����,2����)	���/� � � � � � � � � > 

Comparing 1 1

2 2

,
a b

a b
�and 1

2

c

c
�the linear pair of equations 
� � �� �  �and 


� � !� � ∀�are consistent or inconsistent. 

>
: ∃���ς
����Γ���<
���������������������Β��> ��,2/�3	���Ρ�����	
��∀������Ν��
����������/� > 

Product of two consecutive positive integers is 240. Write it in the form of 

quadratic Equation. 
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> : ;�����Χ?∃��	��P(ΦΕ�ΛΦ) ���∃�∀���������/� � � � � � � > 

Find the distance of point  P(ΦΕ�ΛΦ) from the origin. 

>�: �	Ω��∀�� (Prove that)  
3

2tan 1
sec tan

tan 1

θ
θ θ

θ

−
= +

−      
>

>Φ: 

Φ�)�2∀�� ��������7�Η��(∋��Ι��0Ξ����∀&�
��(�Γ��
�	���������/� � � � > 

Find HFC of 336 and 54 from Euclids division algorithm.  

>!: ∃����������
�����<�������)�����64 cm
3�,2����	��Ψ��Β���������
���∀�Γ���∋��Χ���������,2�����

���Ο��Γ���∋������Α1Θ�#��4Β���������/� � � � � � � > 

Two cubes of each volume  64 cm
3
 added adjoining edges to form cuboid. 

Find surface area of cubiod. 

>Κ: Χ�������94�
���PA )�2∀�PB�(Α�����	�%���∀����0Υ�,2���&���∠ APO=30�����∠ AOB=? 2 

In the given figure PA and PB are tangents of the circle and ∠ APO=30�  

 

  

 

 

>Μ: a ����
�������������∃�( a , 2) )�2∀�(3, 4) ���Χ�9����∃�∀��Κ�3��3��,2/� � � > 

Find the value of a  if distance between ( a , 2) and (3, 4) is 8 units. 


�: ��∃�α �)�2∀� β ��Ρ�����Χ,��∃� 2
( )f x ax bx c= + + 2

( )f x ax bx c= + + ���∗��?���,��������� 2α ��

+ 2β ����
����������/� � � � � � � � > 

If α  and β  is Zeroes of  2
( )f x ax bx c= + + . find 2α + 2β :�


�: >Ε��Ε�!Ε�ΜΕ���Ε�������
�Γ���������/� � � � � � � > 

Find mean of 2, 5, 7, 9, 10, 15.  


>: �	Ω��∀������3 2 5+ �0��)��∀
���	�����,2/� � � � � � 
 

Prove that 3 2 5+  is an irrational number. 



: �Ρ�����	�
�∀��� 22 7 3 0x x− + = ����
����������/�� � � � � 
 

Find  the roots of the quadratic equation 22 7 3 0x x− + =  


 : 0��A.P. 
��� 5, 3, 50na d a= = =  ���� n  0(�� nS �������/� � � � � 
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Find and A.P. n  and nS  if  5, 3, 50na d a= = =   


�: 7����Χ?∃�� ( ) ( )5, 2 , 6, 4− − �)�2∀� ( )7, 2− �	
�ΡΧ�,��� �����%�1���,2��=�� � � 
 

Are the points ( ) ( )5, 2 , 6, 4− − �and ( )7, 2− �vertices of  isoceles �?  


Φ: �4∋��Ι����∋��Ι�)����BC, CA�)�2∀�AB����ς
%���D, E, F 
Γ���Χ?∃��,2������ ( )

( )

ar DEF

ar ABC

�

�
�Σ���

�∀��/� � � � � � � � � � � 
 

D, E, F are mid points of the sides BC, CA and AB respectively of � �ABC 

Determine 
( )

( )

ar DEF

ar ABC

�

�
 . 


!: �	Ω��∀���(prove that)  
1

sec tan
sec tan

θ θ
θ θ

= +
−      


 

 


Κ: ��∃� tan 2 cot( 18 )A A= − � �Ι,�Υ A �?���������,2/� A���
����������/� � � 
 

If  tan 2 cot( 18 )A A= − �  where A  is an acute angle Find the value of A . 


Μ: ��∃���	��	
�
���Χ�������
�Γ��)�2∀�
�Γ���ς
%���>Φ:Κ�)�2∀�>!:Μ�,�������Χ,�����������/�
 

If mean and median of symmetric distribution is 26.8 and 27.9 then find 

mode. 

 �: �0.6 �������∀
���	��������	∀��Ν��
���ϑ�7���∀��/�� � � � � 
 

Express 0.6  as rational number in simplest form 

 

 �: ��	��	�����0(��−	���ϑ��<ς
���������10

3
�,2/�	�����Σ����∀��/� � � � 
 

Sum of number and its reciprocal is 
10

3
 Find the number.  

 >: �∃�������Χ�∀�Χ�∀���Χ�������Χ,����Σ����∀��/� � � � � � 
 

Calculate the mode of the given frequency distribution. 

(���)?�∀���
C.I�
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�

�

�(Ζ��&����������	�����
No. of students 

2 3 7 6 6 6 

 

 
: ���Β����(�Γ��	��,���∀���(Solve graphically) :-      5 

1x y− =  

2 8x y+ =  

  : )�Υ�Γ��)����	��0����Η6�����Ι����,2�)�2∀������,�)��∋����3	�����∀�
�Η6�Ι����,2������Η�6����%���∀�

Ι
�������[���������,2�)�2∀�∋���
����	�&��30� ����������Χ�����,2/���Η6������∃��Χ?∃�����∃�∀��

Ι,�Υ���Η6�����%���∀�Ι
������[����,2�Κ�
���,2Ε�������Η6����∴Υ9�3���������/� � � � 

A tree break due to storm and the broken part bends so that the top of the 

tree touches the ground making an angle of  30�  with ground. The distance 

between the Foot of the tree to the point where the top touches the ground is 

8 m. find the height of the tree, 

 �: �	Ω��∀������	
�������4∋��Ι���������(���)?��∃���∋��Ι�)�������(�����������������Χ∀�Χ∀�,�����,2�/�� 

In an right triangle, the square of hypotenuse is equal to the sum of the 

squares of other two sides.  

 Φ: 0����Η6������
������	�3��������� �	��
���,2�����3	�	�3��Ρ�∀�����
���
������#��4Β��

�������/� � � � � � � � � � � � 

The lengths of minute hand of a clock is 14 cm. Find the area in 5 minutes 

covered by minute hand. 

 !: ∀�����AB=12 cm.�����9���)�2∀�3	��3:5 ���)������
���Χ�����/�� � � � � 

Draw a line  AB=12 cm. and divide it in the ratio 3:5 . 

����

����

����

����
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−8�∀����−8�∀����−8�∀����−8�∀����(ANSWERS) 

 

1. ����� � � � 2. ���� 

3. ���� � � � 4. ��� 

5. ����    6. ��� 

7. ����    8. ��� 

9. ���    10. ���� 

11. (�����    12. 3 

13. 40�     14. cotθ  

15. 0���Χ?∃�   16. ∗��?� 

17. 0��	∀��∀����   18. �(�(7�∀ 

19. )	���    20. 
#∃� 

 

 

 

 

 

 

 

 

 

 

 

 

�

�
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�

>�:� 
�������������Β�� 3 1 3 1 2 3α β= + = + + − = � �

� 
��������������Β�� ( 3 1)( 3 1)αβ= = + − �

� � � �� 2 2( 3) (1) 3 1 2= − = − = �

� ��Ρ�����Χ,��∃��� 2 ( )x xα β αβ� − + + �

� � ���� � 2 (2 3) 2x x� − + �

� � � � 2 2 3 2x x� − + �

�

>>:� � 2 3 8x y− = � � 1 1 1 0a x b y c+ + = �

� � 4 6 9x y− = � � 2 2 2 0a x b y c+ + = �

� Comparing we get 

  
2 3 8

4 6 9

− −
= ≠

−
 

        
1 1 8

4 2 9
� = ≠ � 

         1 1 1

2 2 2

a b c

a b c
= ≠� ��

� 3	��0�∀2�������Ψ
�)	����,2/�

�

>
:� 
�������∃���ς
����	����0�� x �)�2∀� 1x + �,2�/�

� �������	�∀Ε� ( 1) 240x x + = �

� �������� 2 240x x� + = �

� � � 2 240 0x x� + − = �

> :� 
����Χ?∃�� ( )0,0 �	�� ( )6, 6p − ���∃�∀��

� � ( ) ( )
2 2

6 0 6 0= − + − − � � ( )2 2

2 1 2 1
( ) ( )D x x y y= − + − �

� � 36 36= + �

� � 72= � 6 2= �
�4��
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�

>�:� L.H.S 
2tan 1

tan 1

θ

θ

−
=

−
 

  
2 2(tan 1)(tan tan 1 1 )

(tan 1)

θ θ θ

θ

− + × +
=

−
 

       { 3 3 2 2( )( )a b a b a ab b− = − + +  

  2(tan 1 tan )θ θ= + +  

  2sec tanθ θ= + = R.H.S 

  ∴ L.H.S=R.H.S 

>Φ:� � 54)336(6 � � � ���������7�Η��(∋��Ι���(�Γ��
� � ���324� � � � 336 54 6 12= × + �
� � �����12)54(4 �� � � 54 12 4 6= × + �
� � � �48 � � � � 12 6 2 0= × + �
� � � ��6)12(2 �
� � � ����12 �

� � � �����×�
�
>!:� 
��������������0��∋��Ι�� a= � .cm  

  3v a=�  

  364 a∴ =  

  3 64 4a = = .cm  

 �������	�∀Ε�0�	��∃���������������
���∀�����∋��Χ���������,2/�

� 9�2Η�3�� 4 4 8 .cm cm cm= + = �

� ����∋������Α1Θ�#��4� ( ) 22 lb bh lh cm= + + �

� � � ��� ( ) ( )2 22 8 4 4 4 8 4 2 32 16 32cm cm cm= × + × + × = + + �

� � � ��� 2 22 80 160cm cm= × = �
>Κ:� �∃���,�)��,2�

� � 30APO∠ = � �

� OA AP⊥� �	�Γ��	���

� 90OAP∴∠ = �

�

� 180 (90 30 )AOP∴∠ = − +� � � �

� 180 120 60= − =� � � �

� 2 60 120AOB∠ = × =� � �
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>Μ:� �∃���,2� ( , 2), (3, 4)A a B �

� ∃�∀�� 8= 
�4���

� A �)�2∀� B ����Χ�9����∃�∀�� 2 2
(3 ) (4 2)a= − + − �

� 2 2
8 (3 ) 2a� = − + �� { 2 2

2 1 2 1( ) ( )D x x y y= − + − �

� 2 28 (3 ) 4a� = − + �

� 264 4 (3 )a� − = − �

� 260 (3 )a� = − �

� 3 60a� − = �

� 3 60 a� ± = �

� (3 60)a∴ = ± �


�:� 9�Υ���α �0(�� β ��Ρ�����Χ,��∃� 2ax bx c+ + �����∗��?���,2/��

� ,
b

a
α β

−
∴ + = �

c

a
αβ = �

� ( )
22 2 2α β α β β+ = + − × �

� �
2

2.
b c

a a

−� �
= −� �
� � �

� �
2 2

2 2

2
2

b c b ac

a a a

−
= − = �

�
2

2 2

2

2b ac

a
α β

−
∴ + = �


�:� �∃�������
���2,5,7,9,10,15 �

� ;��Γ��;��Γ��;��Γ��;��Γ�� ( )x = ��������

� � � � �
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�

2 5 7 9 10 15

6

+ + + + +
=

��������

48
8

6
= =

�

�
8x =
�
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